Copy these notes into your Notes Notebook:


[image: ]


[bookmark: _GoBack]Example 3
[image: ]
image1.png
Problem Calculate the sum and product of x2 — 6x + 5 and 3x + 7.
Solution Calculate the sum by combininglike terms.
(62— 6x +5) + @Gx + 7)

(2 = 6x+5) + Gx +7)
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=x2-3r+ 12
Calculate the product by expanding. Then collect like terms.
(2 = 6x + 5)3x + 7) = 3x(x? — 6x + 5) + 7(x? — 6x + 5)

=3x% — 1ox? + 150 + 7

a2 + 35
3x 4 ((-18) + Da? + (15 — 42)x + 35
33— 11x? = 270+ 35
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(Bx +2x-5)— (5x*—3x+2)
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(3x*+ 2x-5) = (5x*-3x+2)
= Bx*+2x-5 - 5xT43x -2
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